BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING AND APPURTENANCES TO SERVE KATY LAKES SECTION 4 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 538 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS DECEMBER 19, 2023 LJA ENGINEERING, INC. S. YOUNG DECEMBER 19, 2023 2636-0140 (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

 1) HARRIS CONSTRUCTION COMPANY, LLC
 \$1,636,516.85

 2) PRECISE SERVICES INC.
 \$1,689,678.30

 3) R CONSTRUCTION CIVIL, LLC
 \$1,710,294.00

 4) ICON GC LLC
 \$1,720,000.00

CALENDAR DAYS 60/75



12/21/23

I, CLAYON WEISHUHN, P.E., hereby certify these bid tabulations to be true and correct.

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING AND APPURTENANCES
TO SERVE KATY LAKES SECTION 4
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 538
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 19, 2023
LJA ENGINEERING, INC.
S. YOUNG
DECEMBER 19, 2023
2636-0140 (9.2)

		_	1) HARRIS CONSTRUCTION COMPANY, LLC		2) PRECISE SERVICES INC.		3) R CONSTRUCTION CIVIL, LLC	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
PAVING ITEMS								
1 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	19666	\$48.50	\$953,801.00	\$44.00	\$865,304.00	\$49.00	\$963,634.00
2 6" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	20836	\$1.95	\$40,630.20	\$4.25	\$88,553.00	\$5.00	\$104,180.00
3 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	6890	\$3.50	\$24,115.00	\$4.15	\$28,593.50	\$4.00	\$27,560.00
4 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3647	\$3.50	\$12,764.50	\$4.15	\$15,135.05	\$4.00	\$14,588.00
5 7% HYDRATED LIME FOR 6" SUBGRADE, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE) TON	361	\$350.00	\$126,350.00	\$310.00	\$111,910.00	\$340.00	\$122,740.00
6 8% FLY ASH FOR 6" SUBGRADE, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	413	\$130.00	\$53,690.00	\$135.00	\$55,755.00	\$150.00	\$61,950.00
7 REMOVE AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$200.00	\$400.00	\$100.00	\$200.00	\$1.00	\$2.00
8 CONNECTION TO EXISTING CONCRETE PAVING, COMPLETE IN PLACE	EA	2	\$500.00	\$1,000.00	\$970.00	\$1,940.00	\$1,700.00	\$3,400.00
9 TYPE 7 ADA RAMPS, INCLUDES TRUNCATED DOME PAVERS WITH CONTRASTING COLOR PER DETAIL, COMPLETE IN PLACE	EA	18	\$1,575.00	\$28,350.00	\$1,300.00	\$23,400.00	\$2,100.00	\$37,800.00
10 CONTRACTOR SHALL REMOVE AND DISPOSE OF EXIST. 18" RCP STORM SEWER AND ASPHALT DRIVEWAY, COMPLETE IN PLACE	EA	1	\$2,425.00	\$2,425.00	\$2,300.00	\$2,300.00	\$2,300.00	\$2,300.00
11 CONTRACTOR SHALL REMOVE AND DISPOSE OF EXIST. ASPHALT DRIVEWAY, AND REPLACE, COMPLETE IN PLACE	EA	1	\$4,950.00	\$4,950.00	\$5,200.00	\$5,200.00	\$8,900.00	\$8,900.00
12 2-WAY REFLECTORIZED BLUE RAISED PAVEMENT MARKERS, COMPLETE IN PLACE	EA	14	\$16.00	\$224.00	\$16.00	\$224.00	\$15.00	\$210.00
13 GRADING FOR LOTS, INCLUDES EXCAVATION, HAUL, FILL, AND COMPACTION TO FINAL GRADE, COMPLETE IN PLACE	EA	107	\$150.00	\$16,050.00	\$205.00	\$21,935.00	\$195.00	\$20,865.00
14 GRADING FOR RESERVES, INCLUDES EXCAVATION, HAUL, FILL, AND COMPACTION TO FINAL GRADE, COMPLETE IN PLACE	EA	8	\$550.00	\$4,400.00	\$460.00	\$3,680.00	\$215.00	\$1,720.00
15 ROW EXCAVATION, TO BE PLACED WITHIN DESIGNATED FILL AREAS, INCLUDES EXCAVATION, STOCKPILE, HAUL, AND PLACEMENT OF STRIPPINGS AS FINAL LIFT, COMPLETE IN PLACE	СУ	2046	\$6.25	\$12,787.50	\$6.85	\$14,015.10	\$3.50	\$7,161.00
16 REGRADE EXISTING EXTREME EVENT OVERFLOW SWALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	313	\$15.45	\$4,835.85	\$15.50	\$4,851.50	\$4.00	\$1,252.00
17 PERMANENT TRAFFIC CONTROL DEVICES INCLUDING TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT, STOP SIGNS, STREET SIGNS AND ALL OTHER TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$15,500.00	\$15,500.00	\$14,500.00	\$14,500.00	\$13,500.00	\$13,500.00
18 DEMUCK AND FILL EXISTING 0.5 FOOT TO 1.5 FOOT DEEP CENTER LINE DRAINAGE SWALE, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	LF	4366	\$2.00	\$8,732.00	\$7.50	\$32,745.00	\$4.00	\$17,464.00
PAVING ITEMS SUBTOTAL:				\$1,311,005.05		\$1,290,241.15		\$1,409,226.00
LEFT HAND TURN LANE PAVING ITEMS								
1 18" SAWCUT, REMOVE AND OFFSITE DISPOSAL OF EXISTING ASPHALT CONCRETE PAVEMENT, EXPOSE, CLEAN, AND CONNECT TO 3" TYPE "D" HMAC PAVING WITH 10" BLACK BASE AND PRIME COAT, COMPLETE IN PLACE	LF	861	\$8.25	\$7,103.25	\$13.00	\$11,193.00	\$20.00	\$17,220.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING AND APPURTENANCES
TO SERVE KATY LAKES SECTION 4
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 538
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 19, 2023
LJA ENGINEERING, INC.
S. YOUNG

DECEMBER 19, 2023

2636-0140 (9.2)

EUA UUB NO.								
			1) HARRIS CONSTRUCT	ION COMPANY, LLC	2) PRECISE SERVICES INC.		3) R CONSTRUCTION CIVIL, LLC	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
2 6" LIME STABILIZED SUBGRADE, INCLUDES MANIPULATION, COMPLETE IN PLACE	SY	1519	\$8.95	\$13,595.05	\$3.75	\$5,696.25	\$7.00	\$10,633.00
3 7% HYDRATED LIME FOR 6" SUBGRADE, AS REQUIRED BY SOIL CONDITIONS APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	S AND TON	27	\$350.00	\$9,450.00	\$305.00	\$8,235.00	\$340.00	\$9,180.00
4 3" TYPE "D" HMAC PAVING WITH 10" BLACK BASE AND PRIME COAT, COMPLETE IN PLACE	SY	1317	\$124.00	\$163,308.00	\$150.00	\$197,550.00	\$100.00	\$131,700.00
5 HOT MIX ASPHALT CONCRETE OVER EXISTING WEST BOUND PAVEMENT (L UP), INCLUDING TACK COAT, COMPLETE IN PLACE	EVEL SY	1150	\$35.00	\$40,250.00	\$33.50	\$38,525.00	\$30.00	\$34,500.00
6 1" TYPE D H.M.A.C OVERLAY, TO INCLUDE ANY MILLING, MC 30 PRIME COAT, AND ANY OTHER ITEMS NECESSARY FOR THE INSTALLATION OF THE PROPOSED OVERLAY OVER THE EXISTING ASPHALT PAVEMENT, COMPLETE IN PLACE	SY	2111	\$25.00	\$52,775.00	\$33.50	\$70,718.50	\$18.00	\$37,998.00
7 TEMPORARY TRAFFIC CONTROL PLAN, COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00	\$19,000.00	\$19,000.00	\$13,500.00	\$13,500.00
8 8" WIDE SOLID WHITE PAVEMENT MARKINGS WITH 4" SQ. 1-WAY REFLECTORIZED WHITE RAISED PAVEMENT MARKERS (TYPE I-C) AND NON-REFLECTORIZED WHITE RAISED TRAFFIC BUTTONS 2" FROM STR COMPLETE IN PLACE	LF IPE,	150	\$5.25	\$787.50	\$4.95	\$742.50	\$5.00	\$750.00
9 2 - 4" WIDE SOLID YELLOW PAVEMENT MARKINGS (8" C-C) WITH 4" 2-WAY REFLECTORIZED YELLOW RAISED PAVEMENT MARKERS (TYP II A-A), COMP IN PLACE	LF LETE	2028	\$2.75	\$5,577.00	\$2.30	\$4,664.40	\$2.00	\$4,056.00
10 24" WIDE SOLID YELLOW PAVEMENT MARKINGS 20' C-C AT 45" WITH 4" SQ PAVEMENT MARKER (TYPE II A-A) AND 4" YELLOW TRAFFIC BUTTON (NON-F 2" FROM STRIPE, COMPLETE IN PLACE	LF EFL.)	200	\$12.85	\$2,570.00	\$15.50	\$3,100.00	\$15.00	\$3,000.00
11 8' WHITE "ONLY", COMPLETE IN PLACE	EA	1	\$400.00	\$400.00	\$330.00	\$330.00	\$305.00	\$305.00
12 8' WHITE LEFT TURN ARROW, COMPLETE IN PLACE	EA	1	\$400.00	\$400.00	\$305.00	\$305.00	\$285.00	\$285.00
13 CLEAN UP OF EXISTING DITCHES WITHIN PROJECT LIMITS, COMPLETE IN PLACE	LF	769	\$14.00	\$10,766.00	\$12.50	\$9,612.50	\$4.00	\$3,076.00
14 4" SOLID WHITE STRIPE, COMPLETE IN PLACE	LF	765	\$2.00	\$1,530.00	\$1.00	\$765.00	\$1.00	\$765.00
LEFT HAND TURN LANE PAVING ITEMS SUBTOTAL:				\$313,511.80		\$370,437.15		\$266,968.00
MISCELLANEOUS ITEMS								
STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$1,100.00	\$1,100.00
2 INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	3	\$1,500.00	\$4,500.00	\$2,000.00	\$6,000.00	\$1,500.00	\$4,500.00
3 CONCRETE TRUCK WASHOUT, INCLUDING INSTALLATION, MAINTENANCE, AND REMOVAL, COMPELTE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00
4 COST FOR ONE YEAR MAINTENANCE BOND (100% FINAL COST), COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00	\$18,500.00	\$18,500.00	\$28,000.00	\$28,000.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$12,000.00		\$29,000.00		\$34,100.00
BIDDING SUMMARY								
SUBTOTAL PAVING ITEMS				\$1,311,005.05		\$1,290,241.15		\$1,409,226.00
SUBTOTAL LEFT HAND TURN LANE PAVING ITEMS				\$313,511.80		\$370,437.15		\$266,968.00
SUBTOTAL MISCELLANEOUS ITEMS				\$12,000.00		\$29,000.00		\$34,100.00
TOTAL AMOUNT BASE BID				\$1,636,516.85		\$1,689,678.30		\$1,710,294.00

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING AND APPURTENANCES
TO SERVE KATY LAKES SECTION 4
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 538
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 19, 2023
LJA ENGINEERING, INC.
S. YOUNG
DECEMBER 19, 2023
2638-0140 (9.2)

4) ICON GC LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST			
PAVI	PAVING ITEMS							
1	6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	19666	\$46.50	\$914,469.00			
2	6" LIME STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	20836	\$6.50	\$135,434.00			
3	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	6890	\$4.00	\$27,560.00			
4	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3647	\$4.00	\$14,588.00			
5	7% HYDRATED LIME FOR 6° SUBGRADE, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	361	\$360.00	\$129,960.00			
6	8% FLY ASH FOR 6" SUBGRADE, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	413	\$161.00	\$66,493.00			
7	REMOVE AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$100.00	\$200.00			
8	CONNECTION TO EXISTING CONCRETE PAVING, COMPLETE IN PLACE	EA	2	\$600.00	\$1,200.00			
9	TYPE 7 ADA RAMPS, INCLUDES TRUNCATED DOME PAVERS WITH CONTRASTING COLOR PER DETAIL, COMPLETE IN PLACE	EA	18	\$1,650.00	\$29,700.00			
10	CONTRACTOR SHALL REMOVE AND DISPOSE OF EXIST. 18" RCP STORM SEWER AND ASPHALT DRIVEWAY, COMPLETE IN PLACE	EA	1	\$1,234.00	\$1,234.00			
11	CONTRACTOR SHALL REMOVE AND DISPOSE OF EXIST. ASPHALT DRIVEWAY, AND REPLACE, COMPLETE IN PLACE	EA	1	\$3,555.20	\$3,555.20			
12	2-WAY REFLECTORIZED BLUE RAISED PAVEMENT MARKERS, COMPLETE IN PLACE	EA	14	\$14.00	\$196.00			
13	GRADING FOR LOTS, INCLUDES EXCAVATION, HAUL, FILL, AND COMPACTION TO FINAL GRADE, COMPLETE IN PLACE	EA	107	\$250.00	\$26,750.00			
14	GRADING FOR RESERVES, INCLUDES EXCAVATION, HAUL, FILL, AND COMPACTION TO FINAL GRADE, COMPLETE IN PLACE	EA	8	\$270.00	\$2,160.00			
15	ROW EXCAVATION, TO BE PLACED WITHIN DESIGNATED FILL AREAS, INCLUDES EXCAVATION, STOCKPILE, HAUL, AND PLACEMENT OF STRIPPINGS AS FINAL LIFT, COMPLETE IN PLACE	СУ	2046	\$9.00	\$18,414.00			
16	REGRADE EXISTING EXTREME EVENT OVERFLOW SWALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	313	\$6.00	\$1,878.00			
17	PERMANENT TRAFFIC CONTROL DEVICES INCLUDING TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT, STOP SIGNS, STREET SIGNS AND ALL OTHER TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$7,300.00	\$7,300.00			
18	DEMUCK AND FILL EXISTING 0.5 FOOT TO 1.5 FOOT DEEP CENTER LINE DRAINAGE SWALE, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	LF	4366	\$8.00	\$34,928.00			
PAVII	PAVING ITEMS SUBTOTAL: \$1,416,019.20							
LEFT	HAND TURN LANE PAVING ITEMS							
1	18" SAWCUT, REMOVE AND OFFSITE DISPOSAL OF EXISTING ASPHALT CONCRETE PAVEMENT, EXPOSE, CLEAN, AND CONNECT TO 3" TYPE "D" HMAC PAVING WITH 10" BLACK BASE AND PRIME COAT, COMPLETE IN PLACE	LF	861	\$10.00	\$8,610.00			

Page 4 of 5 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING AND APPURTENANCES
TO SERVE KATY LAKES SECTION 4
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 538
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 19, 2023
LJA ENGINEERING, INC.
S. YOUNG
DECEMBER 19, 2023
2638-0140 (9.2)

4) ICON GC LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
2	6" LIME STABILIZED SUBGRADE, INCLUDES MANIPULATION, COMPLETE IN PLACE	SY	1519	\$4.20	\$6,379.80
3	7% HYDRATED LIME FOR 6° SUBGRADE, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	27	\$360.00	\$9,720.00
4	3" TYPE "D" HMAC PAVING WITH 10" BLACK BASE AND PRIME COAT, COMPLETE IN PLACE	SY	1317	\$110.00	\$144,870.00
5	HOT MIX ASPHALT CONCRETE OVER EXISTING WEST BOUND PAVEMENT (LEVEL UP), INCLUDING TACK COAT, COMPLETE IN PLACE	SY	1150	\$35.00	\$40,250.00
6	1" TYPE D H.M.A.C OVERLAY, TO INCLUDE ANY MILLING, MC 30 PRIME COAT, AND ANY OTHER ITEMS NECESSARY FOR THE INSTALLATION OF THE PROPOSED OVERLAY OVER THE EXISTING ASPHALT PAVEMENT, COMPLETE IN PLACE	SY	2111	\$23.00	\$48,553.00
7	TEMPORARY TRAFFIC CONTROL PLAN, COMPLETE IN PLACE	LS	1	\$4,800.00	\$4,800.00
8	8" WIDE SOLID WHITE PAVEMENT MARKINGS WITH 4" SQ. 1-WAY REFLECTORIZED WHITE RAISED PAVEMENT MARKERS (TYPE I-C) AND NON-REFLECTORIZED WHITE RAISED TRAFFIC BUTTONS 2" FROM STRIPE, COMPLETE IN PLACE	LF	150	\$1.75	\$262.50
9	2 - 4° WIDE SOLID YELLOW PAVEMENT MARKINGS (8" C-C) WITH 4" 2-WAY REFLECTORIZED YELLOW RAISED PAVEMENT MARKERS (TYP II A-A), COMPLETE IN PLACE	LF	2028	\$1.75	\$3,549.00
10	24" WIDE SOLID YELLOW PAVEMENT MARKINGS 20' C-C AT 45° WITH 4" SQ PAVEMENT MARKER (TYPE II A-A) AND 4" YELLOW TRAFFIC BUTTON (NON-REFL.) 2" FROM STRIPE, COMPLETE IN PLACE	LF	200	\$12.00	\$2,400.00
11	8' WHITE "ONLY", COMPLETE IN PLACE	EA	1	\$165.00	\$165.00
12	8' WHITE LEFT TURN ARROW, COMPLETE IN PLACE	EA	1	\$165.00	\$165.00
13	CLEAN UP OF EXISTING DITCHES WITHIN PROJECT LIMITS, COMPLETE IN PLACE	LF	769	\$3.50	\$2,691.50
14	4" SOLID WHITE STRIPE, COMPLETE IN PLACE	LF	765	\$1.00	\$765.00
LEFT	HAND TURN LANE PAVING ITEMS SUBTOTAL:				\$273,180.80
MISC	ELLANEOUS ITEMS				
1	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00
2	INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	3	\$100.00	\$300.00
3	CONCRETE TRUCK WASHOUT, INCLUDING INSTALLATION, MAINTENANCE, AND REMOVAL, COMPELTE IN PLACE	EA	1	\$1,500.00	\$1,500.00
4	COST FOR ONE YEAR MAINTENANCE BOND (100% FINAL COST), COMPLETE IN PLACE	LS	1	\$26,500.00	\$26,500.00
MISC	ELLANEOUS ITEMS SUBTOTAL:				\$30,800.00
BIDD	NG SUMMARY				
SUBT	OTAL PAVING ITEMS				\$1,416,019.20
SUBT	OTAL LEFT HAND TURN LANE PAVING ITEMS				\$273,180.80
SUBT	OTAL MISCELLANEOUS ITEMS				\$30,800.00
TOTA	L AMOUNT BASE BID				\$1,720,000.00

Page 5 of 5 FRN F-1386 LJA Engineering, Inc.